

Tangent Function As A Solution Of A 3- Dimensional Functional Equation

Hang Su

Supervisor: Ramesh Sharma PhD

University of New Haven



$$\text{e.g. } f(x) = e^x$$

$$f(x + y) = e^{x+y} = e^x e^y = f(x)f(y)$$

$f(x + y) = f(x)f(y)$ is a functional equation.

e.g. $g(x) = \ln(x)$

$$g(xy) = \ln(xy) = \ln(x) + \ln(y) = g(x) + g(y)$$

$g(xy) = g(x) + g(y)$ is also a functional equation.

Periodic Function: $f(x + P) = f(x)$

Even Functions: $f(x) = f(-x)$

Sine Addition Formula: $f(x + y) = f(x)g(y) + f(y)g(x)$

Applications in Mathematics

Other Applications



Euler-Lagrange Equation



Fluid Dynamics



Financial Management



Information Theory

Sum Formulas:

$$\sin(x + y) = \sin(x)\cos(y) + \cos(x)\sin(y)$$

$$\cos(x + y) = \cos(x)\cos(y) - \sin(x)\sin(y)$$

That gives $\tan(x + y) = \frac{\sin(x)\cos(y) + \cos(x)\sin(y)}{\cos(x)\cos(y) - \sin(x)\sin(y)}$

Divide the top and bottom by $\cos(x)\cos(y)$

$$\tan(x + y) = \frac{\tan(x) + \tan(y)}{1 - \tan(x)\tan(y)}$$

$$\begin{aligned}\tan(x + y + z) &= \tan((x + y) + z) = \\ &\frac{\tan(x + y) + \tan(z)}{1 - \tan(x + y)\tan(z)} \\ &= \frac{\frac{\tan(x) + \tan(y)}{1 - \tan(x)\tan(y)} + \tan(z)}{1 - \frac{\tan(x) + \tan(y)}{1 - \tan(x)\tan(y)}\tan(z)}\end{aligned}$$

Multiplying top and bottom by $1 - \tan(x)\tan(y)$

$$\tan(x + y + z) = \frac{\tan(x) + \tan(y) + \tan(z) - \tan(x)\tan(y)\tan(z)}{1 - \tan(x)\tan(y) - \tan(y)\tan(z) - \tan(z)\tan(x)}$$

We consider the following functional equation:

$$f(x + y + z) = \frac{f(x) + f(y) + f(z) - f(x)f(y)f(z)}{1 - f(x)f(y) - f(y)f(z) - f(z)f(x)}$$

has a solution $f = \tan$

Theorem:

If a differentiable function f satisfies this functional equation,
then $f(x) = \tan(cx)$ for an arbitrary real constant c .

Proof:

Let $u = x + y + z$

Then the functional equation assumes the form

$$f(u) = \frac{f(x) + f(y) + f(z) - f(x)f(y)f(z)}{1 - f(x)f(y) - f(y)f(z) - f(z)f(x)}$$

$$\begin{aligned}
& f'(u) \cdot \frac{\partial u}{\partial x} = \\
& \left[\frac{\partial}{\partial x} (f(x) + f(y) + f(z) - f(x)f(y)f(z)) (1 - f(x)f(y) - f(y)f(z) - f(z)f(x)) \right. \\
& \quad \left. - (f(x) + f(y) + f(z) - f(x)f(y)f(z)) \left(-\frac{\partial}{\partial x} (f(x)f(y) + f(y)f(z) + f(z)f(x)) \right) \right] \\
& \quad \cdot \frac{1}{(1 - f(x)f(y) - f(y)f(z) - f(z)f(x))^2}. \tag{3.2}
\end{aligned}$$

Now, noting that

$$\frac{\partial u}{\partial x} = \frac{\partial}{\partial x}(x + y + z) = 1,$$

$$\begin{aligned} f'(u) &= \frac{f'(x) + f'(x)f^2(y)f^2(z) + f'(x)f^2(y) + f'(x)f^2(z)}{(1 - f(x)f(y) - f(y)f(z) - f(z)f(x))^2} \\ &= \frac{f'(x)(1 + f^2(y)f^2(z) + f^2(y) + f^2(z))}{(1 - f(x)f(y) - f(y)f(z) - f(z)f(x))^2} \end{aligned}$$

$$f'(u) = \frac{\partial u}{\partial y} = \frac{f'(y)(1 + f^2(x)f^2(z) + f^2(x) + f^2(z))}{(1 - f(x)f(y) - f(y)f(z) - f(z)f(x))^2}$$

$$f'(x)(1 + f^2(y))(1 + f^2(z)) = f'(y)(1 + f^2(x))(1 + f^2(z))$$

This equation gets separated as

$$\frac{f'(x)}{(1 + f^2(x))} = \frac{f'(y)}{(1 + f^2(y))}.$$

because $(1 + f^2(x)) \neq 0$ for any x , and same holds for analogous terms in y and z .

$$\frac{f'(x)}{1 + f^2(x)} = c$$

Substituting $v = f(x)$, $\frac{dv}{1+v^2} = c$

Integrating, $\tan^{-1}v = cx + d$

where d is an arbitrary constant.

Hence $v = \tan(cx + d)$

$f(x) = \tan(cx + d)$

Substituting $x = y = z = 0$ in the proposed functional equation:

$$f(0)[1 + (f(0))^2] = 0$$

This implies $f(0) = 0$

Using this initial condition, we have $\tan(d) = 0$
where $d = n\pi$ for an arbitrary integer n .

Since $f(x) = \tan(cx + d)$,
 $f(x) = \tan(cx)$.

This completes the proof.

References

- [1] Aczél, J.: On applications and theory of functional equations, Elsevier, 1969.
- [2] Aczél, J. and Dhombres, J.: Functional equations in several variables, Cambridge Univ. Press, 1989.
- [3] Castillo, E., Gutiérrez, J.M. and Iglesias, A. : Solving a functional equation, *Mathematica J.* 5., 82-86, 1995. B.Y.: *A simple characterization of generalized Robertson-Walker spacetimes*, *Gen. Rel. Grav.* 46 (2014), 1833 (5 pp.).
- [4] Efthimiou, C.: Introduction to functional equations, AMS, 2011.
- [5] Small, C. G.: Functional equations and how to solve them, Springer Science and Business Media, Apr. 3, 2007, Mathematics, 131 pages,.

Main Takeaways and Q&A



Functional equations have implications in many fields.



We found that a tangent function is a solution to a 3-dimensional functional equation.



Methods: differential equations, multivariable calculus.